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Directions: Write the best answer for each question on the answer sheet provided.

.+ 1. What are the main conditions that determine the plant life of a given bigﬂe?
a. Rainfall & temperature
b. Sunlight & temperature
c. Altitude & temperature
d. Rainfall & sunlight

2. Which of the following levels of study in ecology includes all the others listed?
a. Population
b. Organism
c. Ecosystem
d. Community

3. The carrying capacity of a population is

a. the number of individuals in that population.

b. the number of individuals that can be supported by available resources.
c. constant for all populations.

d. fixed for humans only.

4. Which trophic level will have the least number of individuals?
a. Primary producer
b. Primary consumer
c. Secondary consumer

5. Which of the following is an example of a population?
a. All of the organisms on campus.
b. All of the animals on campus.
c. All of the plants on campus.
d. All of the peacocks within 1 km of this building
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6. An organism that makes it own food is considered a
a. primary producer.
b. primary consumer.
c. secondary consumer.
d. decomposer.
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a. Deer
b. Wood tick.
c. Prairie dog
d. Red-tailed hawk

8. Which of the following traits would you expect to see in a plant located Arizona?
a. Large, showy leaves
b. Thick cuticles
c. Shallow roots
d. Numerous stomata

9. Desert animals typically
a. have long ears.
b. are nocturnal.
c. burrow into the sand.
d. B&C.
e. All of the above.

10. Aforestis devasted by a fire. What type of plants will be present as the forest begins to regrow?
a. k-selected species
b. r-selected species
c. climax species
d. shade tolerant

11. Which of the following statements is false about a climax community?
a. Itishardly ever achieved due to climatic changes.
b. Species diversity is higher than in early succession.
c. Itisalways changing.
d. The wildlife populations change as the plant species change.

12. How much energy is lost at each level of the food chain?

a. 0.9%
b. 9%

c. 19%
d. 90%

13. A population designated with “zero population growth” would be expected to
a. go extinct within a one generation.
b. become designated as “threatened”.
c. have a balance between birth rate and death rate.
d. become a climax species.
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Which of the following statements does not apply?
a.

The population represented is experiencing

some type of stress.

The curve would depict a population that was
experiencing exponential growth. #
The curve could be characterized as a

J-shaped curve.

There are no limiting factors in this community.

Time

15. Studies have shown that oak survival has been inhibited by the rodent population. A closer look into the
problem in the Serrano Canyon area have shown that it is not a direct affect of the rodents. As native grasses
and plants have been replaced by introduced annuals, the amount of seed available each year has increased.
This would explain...
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the reduction in oak seeds. f&

the increase in rodent population. i
the risk of native species as other species are introduced.

none of the above.

16. In this same study in Serrano Canyon, scientists had to remember one important difference among seed-bearing
plants that affects the availability of food for rodents:

a.

b
c.
d
e

annuals produce seed in one short season.
perennials produce seed well into summer months.
annuals are more attractive to rodents.

Both “a” and “b” are true.

Both “a” and “c” are true.

17. What is the most likely result of this situation?

a.

If annuals replace the native perennials in this ecosystem and rodents continually need a food source,
then the rodents will eat acorns when the annuals are not producing seed.

The rodent population will decline during the autumn and winter months.

Eventually the oak trees will increase in number and produce more acorns due to supply and demand.
The carrying capacity for the rodent population will never be reached as they run out of food.

18. In the Sonoran Desert, the lesser long-nosed bat pollinates the saguaro cactus as it feeds from the nectar from
the flowers. This is a classic example of

a.

b
c.
d

commensalism.
mutualism.
parasitism.
predation.




[image: image4.png]219. Which of the four deserts in North America is considered a “cold desert”?
Chihuahuan Desert

Great Basin Desert

Mojave Desert

Sonoran Desert
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None of the above.

. 20. Death Valley is part of the
a. Chihuahuan Desert
Great Basin Desert

Mojave Desert

b

c

d. Sonoran Desert

e. None of the above.

21. In which of the four deserts in North American could be described as the most biologically diverse ?
a. Chihuahuan Desert
b. Great Basin Desert
c. Mojave Desert
d. Sonoran Desert
e. None of the above.

22. Which of the deserts is the driest?
a. Chihuahuan Desert
b. Great Basin Desert
c. Mojave Desert
d. Sonoran Desert

“ 23. What characteristics of grasses allow them to thrive in the grassland biome?
a. They grow from the bottom rather than the top, thus being able to rebound after a fire.
b. They require thick layers of healthy soil to grow.
c. They require consistent rainfall.
d. All of the above.

24. What did the pioneers notice about the grasslands as they moved west of the Mississippi River?
a. The grasses were taller as they moved toward the Rocky Mountains.
b. The grasses were shorter as they moved toward the Rocky Mountains.
c. The grasses did not change as they moved toward the Rocky Mountains.

2 25. In their natural state, the following factors contribute to the maintenance of the grasslands:
a. climate, topography, and grazing.

b. climate, topography, and fire.

c. topography, fire, and grazing.

d. climate, fire, and grazing.





